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Part – I 

Child Development and Teaching method 

 

Q1.  Which of the following pairs is not true? 

1) Stimulus-response theory of learning-Thorndike 

2) Operant conditioning theory of learning-B.F. Skinner 

3) Classical theory of learning-Pavlov 

4) Holistic theory of learning-Hull 

  

Q2. Whose name is associated with ‘Father of the Eugenics’?  

1) Crow and Crow 

2) Galton 

3) Ross 

4) Woodworth 

  

Q3. Who described different types of personality based on glands? 

1) Kretschmer 

2) Jung 

3) Cannon 

4) Spranger 

  

Q4. “Creativity is a mental process to express the original outcomes.” This statement is given by 

1) Cole and Bruce 

2) Drevahal 

3) Dehan 

4) Crow and Crow 

  

Q5. The tendency of ‘Feeling of Revolt’ is concerned with which of the following ages? 

1) Childhood 

2) Infancy 

3) Early adolescence 

4) Middle adolescence 

  

 

Q6. The period of learning, where no improvement in performance is made, is called 
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1) learning curve 

2) plateau of learning 

3) memory 

4) attention 

  

Q7. The formula of calculating IQ is 

1) Mental age × Chronological age 

2) 
𝐶ℎ𝑟𝑜𝑛𝑜𝑙𝑜𝑔𝑖𝑐𝑎𝑙 𝑎𝑔𝑒

𝑀𝑒𝑛𝑡𝑎𝑙 𝑎𝑔𝑒
 

3) 
𝑀𝑒𝑛𝑡𝑎𝑙 𝑎𝑔𝑒

𝐶ℎ𝑟𝑜𝑛𝑜𝑙𝑜𝑔𝑖𝑐𝑎𝑙 𝑎𝑔𝑒
× 100 

4) Chronological age + Mental age 

  

Q8. Who has propounded the law of trial and error of learning? 

1) Kohler 

2) Pavlov 

3) Thorndike 

4) Gestalt 

  

Q9. In a normal zygote, the number of chromosomes in pair is 

1) 22 

2) 23 

3) 24 

4) None of the above 

  

Q10. Operant conditioning theory is propounded by 

1) Hull 

2) Thorndike 

3) Hegarty 

4) Skinner 

  

Q11. Kohler is associated with which of the following? 

1) Theory of motivation 

2) Theory of development 

3) Theory of personality 

4) Theory of learning 

  

Q12. Fluid mosaic model of intelligence was proposed by 
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1) Cattel 

2) Thorndike 

3) Vernon 

4) Skinner 

  

Q13. Brainstorming model of teaching is used to improve which of the following? 

1) Understanding 

2) Application 

3) Creativity 

4) Problem solving 

  

Q14. Goleman is associated with which of the following? 

1) Social intelligence 

2) Emotional intelligence 

3) Spiritual intelligence 

4) General intelligence 

  

Q15. Find the odd out 

1) Theory of learning to learn 

2) Theory of identical elements 

3) Drive reduction theory 

4) Theory of generalization 

  

Q16. The lowest level of cognitive achievement is 

1) knowledge 

2) understanding 

3) application 

4) analysis 

  

Q17. A boy who can ride a cycle is going to drive a motorbike. This is an example of 

1) horizontal transfer of learning 

2) vertical transfer of learning 

3) bilateral transfer of learning 

4) No transfer of learning 

  

Q18. Which of the following is not the cause of plateau of learning? 

1) Limit of motivation 
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2) Non-cooperation of school 

3) Physiological limit 

4) Limit of knowledge 

  

Q19. “Learning is the modification of behaviour through experience and training.” This statement 

was given by 

1) Gates and others 

2) Morgan and Gilliland 

3) Skinner 

4) Cronbach 

  

Q20. ‘Stanford-Binet Test’ measures 

1) personality 

2) reading efficiency 

3) intelligence 

4) None of the above 

  

Q21. Who was classified introvert personality and extrovert personality? 

1) Freud 

2) Jung 

3) Munn 

4) Allport 

  

Q22. The factors affecting the social development of children are 

1) economic elements 

2) social-environmental elements 

3) physical elements 

4) hereditary elements 

  

Q23. Which of the following is a primary law of physical development?  

1) Law of difference from mental development 

2) Law of irregular development 

3) Law of rapid growth 

4) Law of relation from imagination and emotional development 

  

Q24. Which of the following is not the theory of development?  

1) Theory of conditioned reflex 
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2) Theory of continuous growth 

3) Theory of interrelation 

4) Theory of uniform pattern 

  

Q25. “Development results in new characteristics and new abilities.” This statement is given by 

1) Gesell 

2) Hurlock 

3) Meredith 

4) Douglas and Holland 

  

Q26. Instincts are classified in fourteen types by 

1) Drever 

2) McDougall 

3) Thorndike 

4) Woodworth 

  

Q27. “Attention is the concentration of consciousness upon one object rather than upon another.” 

This statement is given by 

1) Dumville 

2) Ross 

3) Munn 

4) McDougall 

  

Q28. Which is not included in primary law of learning? 

1) Law of readiness 

2) Law of exercise 

3) Law of multiple response 

4) Law of effect 

  

Q29. Which test is propounded by Dr. S Jalota in Hindi for the children of 12 to 16 years? 

1) Non-verbal intelligence test 

2) General mental ability test 

3) Army alpha test 

4) Picture drawing test 

  

Q30. Who propounded the two-factor theory of intelligence? 

1) Thorndike 
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2) Spearman 

3) Vernon 

4) Stern 

  

 

 Part – III 

Language – II (English) 

 

Q61. Complete the following sentence with correct conjunction: 

_______ he had not paid his bill, his electricity was cut off. 

1) But 

2) Either 

3) Unless 

4) As 

  

Q62. Choose the correct figure of speech in the following sentence: 

Death lays his icy hand on kings.  

1) Metaphor 

2) Personification 

3) Apostrophe 

4) Simile 

  

Q63. The study of population is known as 

1) Ecology 

2) Astronomy 

3) Demography 

4) Genealogy 

  

Q64. Give the meaning of the following proverb: 

A bird in hand is worth two in a bush 

1) To catch two birds with your hands 

2) To be dissatisfied with what you have 

3) It is better to be satisfied with what you have than to try to get what is not yours 

4) To trap birds in bushes. 
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Q65. Which of the following sounds is not associated with the sound of a bell? 

1) Chime 

2) Jingle 

3) Ring 

4) Dang 

  

Q66. Fill in the blank with the correct preposition: 

Are you sorry _____ what you have done? 

1) with 

2) for 

3) by 

4) over 

  

Q67. Pick out the correct synonym of the following word: 

Attenuate 

1) Repent 

2) Force 

3) Divide 

4) Make thin 

  

Q68. Pick out the compound sentence 

1) To add to their troubles the servant ran away 

2) Having no money with me, I could not give the beggar anything 

3) I loved him because he was my friend 

4) The servant ran away and added to their troubles 

  

Q69. Select the most appropriate preposition to complete the following sentence: 

Why are you always so suspicious ______ me? 

1) to 

2) with 

3) of  

4) for 

  

Q70. Choose the correct alternative to complete the following sentence: 

The Headmaster ______ to speak to you. 

1) wants 

2) is wanting 
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3) was wanting 

4) None of the above 

  

Directions: Read the given passage carefully and answer the questions (Question Nos. 71 to 75) 

that follow by selecting the most appropriate option. 

Antarctica is an icy continent in the South Pole. It is covered by permanently frozen ground, is 

surrounded by water and is about 1.5 times longer than the United States. The World’s largest 

desert is in Antarctica. 98% of the land is covered with a continental ice sheet; the remaining 2% of 

land is barren rock. Antarctica has about 87% of the world’s ice. The South Pole is the coldest, 

windiest and driest place on Earth. The coldest temperature ever recorded on Earth was at the 

South Pole; it reached as low as -128.6° F or -88.0°C. On an average most of the Antarctica gets 

less than 2 inches of snow each year. Although scientific expeditions visit Antarctica, there are no 

permanent human residents. This is because of the extreme weather, which includes freezing 

temperature, strong winds and blizzards. There are about 4000 seasonal visitors to Antarctica. 

Antarctica hasn’t always been located at the South Pole. It has drifted, like the other continents and 

has ranged from the Equator during the Cambrian period, about 500 million years ago to the South 

Pole. During the time of the dinosaurs, Antarctica  was more temperate and housed dinosaurs and 

many other life-forms. Now there is very little indigenous life. 

  

Q71. The word ‘icy’ in the passage is a/an 

1) noun 

2) adjective 

3) adverb 

4) homonym of ‘ice 

  

Q72. The word ‘desert’ in the passage is a 

1) noun 

2) pronoun 

3) verb 

4) verbal 

  

Q73. The word ‘windiest’ in the passage is a 

1) second form of verb 

2) superlative form of adjective 

3) superlative form of adverb 

4) positive form of noun 
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Q76. The writer believes that half-educated persons are not able to 

1) enjoy wine-drinking 

2) enjoy dreaming 

3) think properly 

4) appreciate hidden qualities of admirable literature 

  

Q77. The word ‘narcotic’ in the passage means 

1) great literature 

2) intoxicant 

3) cheap books 

Q74. Has Antarctica always been fixed in the South Pole? 

1) Yes 

2) No 

3) May be 

4) Not given in the passage 

  

Q75. Who are the earliest known inhabitants of Antarctica? 

1) American scientists 

2) Indian scientists 

3) Dinosaurs 

4) It has always been a desert 

  

Directions: Read the given passage carefully and answer the questions (Question Nos. 76 to 80) 

that follow by selecting the most appropriate option. The first thing which a scholar should bear in 

mind is that a book ought not to be read for mere amusement. Half-educated persons read for 

amusement, and are not to be blamed for it; they are incapable of appreciating the deeper qualities 

that belong to a really great literature. But a young man who has passed through a course of 

University training should discipline himself at an early day never to read for mere amusement. And 

once the habit of discipline has been formed, he will find it impossible to read for mere amusement. 

He will then impatiently throw down any book from which he cannot obtain intellectual food, any 

book which does not make an appeal to the higher emotions and to his intellect. But on the other, 

the habit of reading for amusement becomes with thousands of people exactly the same kind of 

habit as wine-drinking or opium-smoking; it is like a narcotic, something that helps to pass the time, 

something that keeps up a perpetual condition of dreaming, something that eventually results in 

destroying all capacity for thought, giving exercise only to the surface parts of the mind and leaving 

the deeper springs of feelings and the higher faculties of perception unemployed. 
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4) intellectual exercise 

  

Q78. The phrase ‘the higher faculties’ in the passage means 

1) different departments in the University 

2) different ways of enjoying things 

3) mental powers of a high order for understanding great literature 

4) superficial part of the mind 

  

Q79. The word ‘eventually’ in the passage means 

1) after some time 

2) at last 

3) never 

4) initially 

  

Q80. The word ‘unemployed’ in the passage means 

1) jobless 

2) in search of employment 

3) not working 

4) unused 

  

Q81. Which of the following is a correct expression? 

1) As cheerful as a lark 

2) As busy as a bat 

3) As cunning as a dog 

4) As happy as a donkey 

  

Q82. The sentence, “This is the house in which I was born”, is 

1) a simple sentence 

2) a compound sentence 

3) a complex sentence 

4) a compound-complex sentence 

  

Q83. Which of the following words is a preposition? 

1) Beyond 

2) And 

3) Yet 

4) Now 
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Q84. Which of the following words is an adverb? 

1) Apace 

2) Face 

3) Meek 

4) Fury 

  

Q85. Join the following sentences to make a simple sentence: 

The coffee isn’t too strong. It won’t keep us awake. 

1) The coffee isn’t to strong to keep us awake 

2) The coffee isn’t too strong and will not keep us awake 

3) The coffee isn’t too strong so it won’t keep us awake 

4) The coffee isn’t too strong so as to keep us awake 

  

Q86. Fill in the blank with suitable pronoun: 

My son and my daughter are very fond of _____. 

1) herself 

2) each other 

3) themselves 

4) himself 

  

Q87. Give one word for ‘one who hates mankind’. 

1) Nazist 

2) Fascist 

3) Misanthrope 

4) Sadist 

  

Q88. Transform the following sentence into a simple sentence ending with ‘book’: 

Let the book be given. 

1) Give me the book 

2) Give the book 

3) Please transfer the book 

4) Can you give the book? 

  

Q89. Transform the following sentence into a direct sentence: 

I asked Sheela if I might know her father 

1) I said to Sheela, “May I know your father?” 
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2) I told Sheela, “May I know your father?” 

3) I asked Sheela, “Can I know your father?” 

4) I questioned Sheela, “Will I know your father?” 

  

  

 

Q90. Fill in the blank to complete the following sentence: 

The Ministers are responsible ______ the Chief Minister of their State for their work. 

1) for 

2) to 

3) of 

4) towards 

  

Part – IV 

Mathematics 

 

Q91. The height of a rectangle in a histogram shows  

1) frequency of the class 

2) width of the class 

3) upper limit of the class 

4) lower limit of the class 

  

Q92. In a constructivist classroom, teachers should not do which of the following? 

1) Allow students to develop their own strategies to solve questions 

2) Ask students to rote memorize formulae 

3) Create situations for exploration 

4) Allow students to construct meaning for mathematical tools 

  

Q93. The difference of two complementary angles is 40°. The angles are   

1) 65°, 35°   

2) 70°, 30°   

3) 25°, 65°   

4) 70°, 110°   

  

Q94. When 121012 is divided by 12, the remainder is 

1) 0 
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2) 2 

3) 3 

4) 4 

  

Q95. Which of the following should be assessed in a student? 

1) Mathematical communication 

2) Capacity to memorize without understanding 

3) Capacity to listen to teacher 

4) Attitude of not asking questions even if the concept is not understood 

  

Q96. The difference between the maximum and minimum observations is called 

1) frequency 

2) class size 

3) range 

4) mean 

  

Q97. The smallest prime number is 

1) 2 

2) 3 

3) 5 

4) 7 

  

Q98. If 24 is 
2

3
 of 

3

4
 of a number, then what will be 

1

4
 of that number? 

1) 8 

2) 12 

3) 10 

4) 32 

  

Q99. The square root of 7 + 2√10 is 

1) (√6 + 1) 

2) (√3 + 2) 

3) (√2 + √5) 

4) (2 + √5) 

  

Q100. The most important person, related to the method of ‘Analysis of Variance’ in statistics, was 

1) R.S. Fisher 
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2) Gauss 

3) Laplace 

4) Newton 

  

Q101. If 
3

5
𝑡ℎ part of 60% of a number is 36, then that number is 

1) 100 

2) 75 

3) 80 

4) 90 

  

Q102. π is a/an 

1) rational number 

2) irrational number 

3) prime number 

4) integer 

  

Q103. If 
𝑎

3
=

𝑏

4
=

𝑐

7
, then the value of 

𝑎+𝑏+𝑐

𝑐
 is 

1) √2 

2) 7 

3) 2 

4) 
1

√7
 

  

Q104. The digit of unit place in (378 × 236 × 459 × 312) will be 

1) 6 

2) 8 

3) 2 

4) 4 

  

Q105. The HCF and LCM of two numbers are 12 and 72 respectively. If the sum of these numbers 

is 60, then one of the numbers will be 

1) 12 

2) 24 

3) 60 

4) 72 
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Q106. A teacher wrote on the blackboard: 

Find 29 × 4 

A student copied it on her notebook as 27 × 4 and solved it as follows: 

×

2
27
4

108
 

The teacher should 

1) give 0 mark to the student 

2) ask her to be attentive in the class and give 0 mark 

3) give 2 marks out of 5 marks to the students 

4) try to ascertain the reason of wrongly copying the question by the student and give her full 5 

marks for the correct process 

  

Q107. If the cost price of an article is 
3

2
 of its selling price, then the profit or loss percent is 

1) 33
1

3
% profit 

2) 33
1

3
% loss 

3) 33
1

8
% loss 

4) 33
1

8
% profit 

  

Q108. The total area of four walls of a room is 660 m2 and the length is twice its width. If the height 

of the room is 11 m, then the area of its ceiling is 

1) 200 m2 

2) 150 m2 

3) 100 m2 

4) 75 m2 

  

Q109. If 604_____6 is divisible by 11, then the integer in the blank space is 

1) 1 

2) 3 

3) 7 

4) 5 

  

Q110. Who was the self-taught Indian mathematical genius in the 20th century?  

1) Aryabhatta 

2) Sridharacharya 
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3) Srinivasa Ramanujan 

4) Harish Chandra 

  

Q111. Twice the larger of two numbers is three more than five times the smaller and the sum of four 

times the larger and three times the smaller is 71. What are the numbers? 

1) 43, 8 

2) 11, 9 

3) 14, 5 

4) 17, 1 

  

Q112. A cube of side 5 cm is painted on all its faces. If it is sliced into 1 cm3 cubes how many 1 cm3 

cubes will have exactly one of their faces painted? 

1) 142 

2) 27 

3) 42 

4) 54 

  

Q113. Which measures of central tendency’ get affected if the extreme observations on both the 

ends of a data arranged in descending order are removed? 

1) Mean and median 

2) Mean, median and mode 

3) Mean and mode 

4) Mode and median 

  

Q114. Every digit of a natural number is either 3 or 4. The number is divisible by both 3 and 4. What 

is the smallest such number? 

1) 333 

2) 444 

3) 44 

4) 4444 

 Q115. Find the sum of all the interior angles of a pentagon. 

1) 450°  

2) 180°  

3) 360°  

4) 540°  
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Q116. 
4

7
 of a pole is in the mud. When 

1

3
 of it is pulled out, an 8 meters long piece of the pole still 

remains in the mud. What is the total length of the pole? 

1) 21 meters 

2) 25 meters 

3) 30 meters 

4) 12 meters 

  

Q117. A and B can do a piece of work in 12 days, B and C in 15 days, C and A in 20 days. How 

long would A take separately to do the same work? 

1) 10 days 

2) 20 days 

3) 30 days 

4) 40 days 

  

Q118. D, E and F are respectively the midpoints of the sides of ΔABC. Which of the following is 

true? 

  

1) Area of ΔDEF = Area of ΔABC   

2) Area of ΔDEF =  
1

2
 Area of ΔABC 

3) Area of ΔDEF = 
1

3
 Area of ΔABC 

4) Area of ΔDEF = 
1

4
 Area of ΔABC 

  

Q119. If the difference and the product of two numbers are 5 and 36 respectively, then their 

reciprocals differ by 

1) 
5

36
 

2) 
31

36
 

3) 
5

9
 

4) 
9

5
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Q120. A two-digit number is such that the product of its digits is 6. If 9 is added to the number, the 

digits are reversed. The number is 

1) 16 

2) 35 

3) 43 

4) 23 

  

Part – V 

Environmental Studies 

 

Q121. Which of the following agencies is primarily concerned with the measurement of pollution in 

India?  

1) Green Tribunal 

2) Central Pollution Control Board 

3) Central Water Commission 

4) Survey of India 

  

Q122. ‘Cotopaxi’ is an active volcano situated in 

1) Sicily 

2) Hawaii 

3) Andes 

4) Rockies 

  

Q123. Tsangpo river of Tibet, in India, is known as 

1) Ganga 

2) Yamuna 

3) Brahmaputra 

4) Indus 

  

Q124. In a food chain of grassland ecosystem, the top consumers are 

1) herbivorous 

2) carnivorous 

3) bacteria 

4) either carnivorous or herbivorous 

  

Q125. The main atmospheric layer near the surface of the earth is 
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1) stratosphere 

2) troposphere 

3) mesosphere 

4) ionosphere 

  

Q126. The number of permanent members of the UN Security Council is 

1) 3 

2) 4 

3) 5 

4) 6 

  

Q127. Sariska National Park is situated in 

1) West Bengal 

2) Gujarat 

3) Rajasthan 

4) Assam 

  

Q128. The main source of energy in an ecosystem is 

1) ATP 

2) sunlight 

3) DNA 

4) RNA 

  

Q129. ‘AGMARK’ is related with 

1) quality 

2) packaging 

3) processing 

4) production 

  

Q130. The problem of water pollution with arsenic is maximum in 

1) Uttar Pradesh 

2) Madhya Pradesh 

3) Bihar 

4) West Bengal 

  

Q131. The Wildlife Protection Act was passed in 

1) 1960 
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2) 1962 

3) 1972 

4) 1975 

  

Q132. The process of curd production from milk is known as 

1) photosynthesis 

2) distillation 

3) fermentation 

4) sterilization 

  

Q133. Fundamental Duties are adopted from the Constitution of which country? 

1) Germany 

2) United Kingdom 

3) USA 

4) USSR 

  

Q134. The Polestar is 

1) North star 

2) South star 

3) East star 

4) West star 

  

Q135. ‘Project Tiger’ was started in India in 

1) 1972 

2) 1973 

3) 1981 

4) 1985 

  

Q136. The Valley of Flowers is located in  

1) Jammu & Kashmir 

2) Himachal Pradesh 

3) Sikkim 

4) Uttarakhand 

  

Q137. How many bones are present in an adult human being? 

1) 305 

2) 275 
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3) 206 

4) 175 

  

Q138. The Headquarters of Greenpeace International is located in 

1) New York 

2) Sydney 

3) Amsterdam 

4) Nagasaki 

  

Q139. During light phase of photosynthesis, _____ is oxidized and ______ is reduced. 

1) water, NADP 

2) NADPH2, CO2 

3) CO2, water 

4) CO2, NADPH2 

  

Q140. What is not true for LPG? 

1) It is a clean fuel 

2) It has high calorific value 

3) It burns with blue flame 

4) It is methane emitting 

  

Q141. The origin of species is a work of 

1) Aristotle 

2) Charles Darwin 

3) Mendel 

4) Robert Hooke 

  

Q142. The Tropic of Capricorn is 

1) 23
1

2
° 

2) 23
1

2
°𝑁 

3) 23
1

2
°𝑆 

4) 23° S 

  

Q143. The Head Office of The International Court of Justice is situated in 

1) Geneva 

2) The Hague 
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3) New York 

4) Paris 

  

Q144. The Constituent Assembly adopted our National Anthem on 

1) 20th January, 1950 

2) 24th January, 1950  

3) 21st May, 1949 

4) 13th November, 1949 

  

Q145. Where is Pushkar Fair held? 

1) Jaipur 

2) Udaipur 

3) Jodhpur 

4) Ajmer 

  

Q146. Which of the following ultraviolet rays is more dangerous? 

1) UV-A 

2) UV-B 

3) UV-C 

4) None of the above 

  

Q147. Which of the following is not an abiotic component of biosphere? 

1) Protein 

2) Soil 

3) Fungi 

4) Phosphorus 

  

Q148. ‘Gir Lion Project’ is situated in 

1) Gujarat 

2) Maharashtra 

3) Uttar Pradesh 

4) Madhya Pradesh 

  

Q149. WWF stands for 

1) World Wide Fund 

2) World War Fund 

3) World Wildlife Fund 
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4) World Watch Fund 

  

Q150. The river Ganga rises from 

1) Aravalli range 

2) Ladakh glacier 

3) Gangotri glacier 

4) Milap glacier 

  

  

 

  

 
 
 

भाग – I 

बाल विकास एिं विक्षण विवि 
 

Q1. निम्न में से कौि-सा युग्म सही िही ीं है? 

1) सीखिे का उद्दीपक-अिनिया नसध्दान्त-थॉिनडाइक 

2) सीखिे का नियाप्रसूत अिुबन्ध नसध्दान्त- 

   बी. एफ. स्कििर 

3) सीखिे का क्लानसकल नसध्दाित – पैवलव 

4) सीखिे का समग्र नसध्दान्त – हल  

  

Q2. इिमें से नकिका िाम ‘सुजििशास्त्र के नपता’ से जुड़ा हुआ है? 

1) िो एवीं िो 

2) गाल्टि 

3) रॉस 

4) वुडवथन 

  

 

Q3. ग्रस्कियाीं के आधार पर व्यस्कित्व के नवनिन्न प्रकारोीं की चचान नकसिे की है? 

1) िेशमर का 

2) युींग 

3) कैिि 

4) सै्प्रन्जर  

  

Q4. “सृजिात्मकता मौनलक पररणामोीं को अनिव्यि करिे की मािनसक प्रनिया है।“ यह कथि है 

1) कोल एवीं बू्रस का  

2) डर ेवहल का  

3) डीहाि का 

4) िो एवीं िो का 
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Q5 “नवद्रोह की िाविा' की प्रवृनि निम्न में से नकस अवस्था से सम्बस्कन्धत है? 

 1) बाल्यावस्था 

2) शैशवावस्था 

3) पूवन नकशोरावस्था  

4) मध्य नकशोरावस्था  

 

Q6. सीखिे की वह अवनध, जब सीखिे की प्रनिया में कोई उन्ननत िही ीं होती, कहलाती है 

1) सीखिे का वि 

2) सीखिे का पठार 

3) सृ्मनत 

4) अवधाि 

 

7. बुस्कि लस्कि निकालिे का सूत्र है 

1) मािनसक आयु × वास्तनवक आयु 

2) 
वास्तनवक आयु

मािनसक आयु
 

3) 
मािनसक आयु

 वास्तनवक आयु 
× 100 

4) वास्तनवक आयु + मािनसक आयु 

 

Q8. सीखिे में प्रयास व िूल के नसिान्त का प्रनतपादि नकसिे नकया? 

1) कोहलर  

2) पैवलव  

3) थॉिनडाइक  

4) गेस्टाल्ट  

 

Q9. सामान्य सींयुि कोनशका में गुणसूत्रोीं के जोड़े होते हैं 

1) 22 
2) 23 

3) 24 

4) उपयुनि में से कोई:िही ीं 

 

Q10. नियाप्रसूत अिुबन्धि नसिान्त का प्रनतपादि नकया 

1)हल िे  

2) थॉिनडाइक िे  

3) हेगार्टी िे  

4) स्कििर रे  

Q11. कोहलर निम्न में से नकससे सम्बस्कन्धत हैं?  

1) अनिपे्ररणा का नसिान्त 

2) नवकास का नसिान्त 

3) व्यस्कित्व-का नसिान्त  

4) अनधगम का नसिान्त  

 

Q12. बुस्कि के तरल निस्टलीय प्रनतमाि के प्रनतपादक कौि 

द थे? 

1) कैरे्टल 

2) थॉिनडाइक 

3) विनि 
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4) स्कििर 

 

Q13. नशक्षण हेतु मािनसक उदे्दलि प्रनतमाि का प्रयोग निम्न में 

से नकसके सुधार हेतु नकया जाता है? . 

1) समझ 

2) अिुप्रयोग  

3) सृजिात्मकता  

4) समस्या समाधाि  

 

Q14. गोलमैि निम्न में से नकससे सम्बस्कन्धत हैं? 

1) सामानजक बुस्कि 

2) सींवेगात्मक बुस्कि  

3) आध्यास्कत्मक बुस्कि  

4) सामान्य बुस्कि  

 

15. निम्न में कौि शेष से निन्न है? 

1) अनधगम के नलए अनधगम का नसिान्त  

2) समाि अवयव्ोीं का नसिान्त  

3) डर ाइव ररडक्शि नसिान्त  

4) सामान्यीकरण का नसिान्त  

 

16. सींज्ञािात्मक सम्प्रास्कि का नू्यितम स्तर है 

1) ज्ञाि  

2) बोध 

3) अिुप्रयोग  

4) नवशे्लषण 

 

Q17. एक बालक, जो साइनकल चलािा जािता है, मोर्टरबाइक चलािा सीख रहा है। यह उदाहरण होगा 

1) कै्षनतज अनधगम अन्तरण का 

2) ऊर्ध्न अनधगम अन्तरण का  

3) निपानवनक अनधगम अन्तरण का 

4) कोई िी अनधगमअन्तरण िही ीं 

 

Q18. निम्न में से कौि-सा अनधगम के पठार का कारण िही ीं है? 

1) पे्ररणा की सीमा 

2) नवद्यालय का असहयोग 

3) शारीररक सीमा 

4) ज्ञाि की सीमा 

 

Q19. “अनधगम, अिुिव और प्रनशक्षण के पररणामस्वरूप हा में पररवतनि है।“ यह कथि नकिके िारा नदया 

1) गेर््टस व अन्य 

2) मॉगनि और नगनललैण्ड 

3) स्कििर | 

4) िॉिबैक 

 

20. सै्टिफोडन-नबिे परीक्षण” मापि करता है 

1) व्यस्कित्व का 

2) पढ़िे की दक्षता का 
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3) बुस्कि का 

4) उपयुनि में से कोई िही ीं 

 

21. अन्तमुनखी व्यस्कित्व एवीं बनह्मुखी व्यस्कित्व का वगीकरण नकसिे नकया है? 

1) फ्रायड . 

2) युींग  

3)मि 

4) आललपोर्टन 

 

Q22. बच्ोीं के सामानजक नवकास को प्रिानवत करिे वाले कारक हैं  

1) आनथनक तत्त्व 

2) सामानजक पररवेशजन्य तत्त्व 

3) शारीररकतत्व 

4) वींशािुगत तत्त्व 

 

Q23. निम्न में से कौि-सा शारीररक नवकास का फैक श्रमुख नियम है?  

1) मािनसक नवकास से निन्नता का नियम 

2) अनियनमत नवकास का नियम 

3) द्वुतगामी नवकास का नियम  

4) नकया और सींवेगात्मक नवकास से सम्बन्ध का नियम 

 

Q24. निम्न में से कौि-सा नवकास का नसिान्त िही ीं है? 

2) निरन्तर नवकास का नसिान्त 

3) परस्पर सम्बन्ध का नसिान्त 

4) समाि प्रनतमाि का नसिान्त 

 

Q25. नवकास के पररणामस्वरूप िवीि नवशेषताएँ और िवीि योग्यताएँ प्रकर्ट होती हैं। यह कथि नकसिे नदया है? 

1) गेसेल 

2) हरलॉक 

3) मेरेनडथ 

4) डगलस और होलैण्ड 

 

Q26. मूल प्रवृनियोीं को चौदह प्रकार से नकसिे वगीकृत नकया है? 

1) डर ेवर 

2) मैकूडूगल 

3) थॉिनडाइक 

4) बुडवथन 

 

Q27. नकसी दूसरी वसु्त की अपेक्षा एक वसु्त पर चेतिा का केन्द्रीकण अवधाि है।'' यह कथिन है  

1)डस्किल का  

2) रॉस का  

3) मिका 

4) मैकूडूगल का 

 

28. निम्न में से कौि-सा सीखिे के मुख्य नियमोीं में शानमल 

िही ीं है?  

1) तत्परता का नियम | 

2) अभ्यास का नियम 
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3)“बहु- अिुनिया का नियम 

4) प्रिाव का नियम द 

 

Q29. 12 वषन से 16 वषन के बच्ोीं के नलए नहन्दी में डॉ- एस. जलोर्ट िे कौि-सा परीक्षण प्रनतपानदत नकया है? 

1) अशास्किक बुस्कि परीक्षण 

२) साधारण मािनसक योग्यता परीक्षण 

3) आमी अल्फा परीक्षण 

4) नचत्राींकि परीक्षण 

 

Q30. बुस्कि के निकारक नसिान्त का प्रनतपादि नकसिे नकया? 

1) थॉिनडाइक द 

2) स्पीयरमैि 

3) विनि 

4) स्टिन  

 

भाग – II PART – II 

भाषा-1 (विन्दी) 
विरे्दि (प्रश्न सं० 31-35) : वर्दए गए गद्ांि विम्नवलखित प्रश्नन ंके सिी विकल्प छााँविए। 1 कन पढ़कर 

 

 

Q31. 'घुमक्कड़' शि में कौि-सा प्रत्यय है?  

1) अकड़ 

2) ड़ 

3) अड़  

4) कड़  

 

Q32. महावीर स्वामी का जन्म कहाँ हुआ था? . 

1) पावापुरी रॉ  

2) वैशाली | 

3) कुशीिगर  

4) पारसौली – 

 

Q33. स्वच्छन्द' में कौि-सी सींनध है? 

1) नवसगन  

आनदम आयन घुमक्कड़ ही थे। यहाँ से वहाँ वे घूमते घूमते िर्टकते ही वे िारत पहँुचे थे। यनद घुमक्कड़ी का बािा उन्ोींिे ि 

धारण नकया होता, यनद वे एक स्थाि पर ही रहते, तो आज िारत में उिके वींशज ि होते। िगवाि बुि घुमककड़ थे। 

िगवाि महावीर घुमक्कड़ थे। वषान-ऋतु के कुछ महीिोीं को छोड़कर एक स्थाि में रहिा बुि के वश का िही ीं था। 35 

वषन की आयु में उन्ोींिे बुित्व प्राि नकया। 35 वषन से 80 वषन की आयु तक जब उिकी मृतु्य हे 45 वषन तक वे निरींतर 

घूमते ही रहे। अपिे आपको समाज और धमन प्रचार में लगाये रहे। अपिे नशष्ोीं से उन्ोींिे कहा था “चरथ निक्खवे चाररक' 

हे. निकु्षओीं! घुमकड़ी करो यद्यनप बुि किी िारत के बाहर िही ीं गए, नकनु्त उिके नशष्ोीं िे उिके वचिोीं को नसर आँखोीं 

पर नलया और पूवन में जापाि, उिर में मींगोनलया, पनिम में मकदूनिया और दनक्षण में बाली िीप तक धावा मारा। श्रावण 

महावीर िे स्वच्छन्द नवचरण के नलए अपिे वच्ोीं तक को त्याग नदया। नदशाओीं को उन्ोींिे अपिा अम्बर बिा नलया, 

वैशाली में जन्म नलया, पावा में शरीर त्याग नकया। जीविपयनन्त घूमते रहे। मािव के कल्याण के नलए मािवोीं के राह 

प्रदशनि के नलए और शींकराचायन बारह वषन की अवस्था में सींन्यास लेकर किी केरल, किी नमनथला, किी कश्मीर और 

किी. बनद्रकाश्रम में घूमते रहे। कन्याकुमारी से लेकर नहमालय तक समस्त िारत को अपिा कमनके्षत्र समझा। 

साींिृनतक एकता के नलए, समन्वय के नलए, शु्रनत धमन की रक्षा के नलए शींकराचायन के प्रयत्ोीं से ही वैनदक धमन का उत्थाि 

हो सका। 
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2) दीघन रे 

3) गुण 

4) व्यींजि 

 

Q34. महात्मा बुि िे जब बुित्व प्राि नकया तब उिकी अवस्था नकतिी थी?  

1) 12 वषन  

2) 35वषन 

3) 45 वषन .. 

4) 80 वषन  

 

Q35. शु्रनत धमन! का क्या अथन है? 

1) जैि धमन  

2) बौि धमन  

3) मुस्किम धमन  

9) वैनदक धमन 

 

Q36. निनमष' शि का पयानय है 1१ 

1) प्रकाश 

2) नछद्र  

3) पूणन 

4) क्षण  

 

Q37. मुझसे उठा िही ीं गया” वाक्य में वाच्य है 

1) कतनवाच्य 

2) कमनवाच्य 

3)” िाववाच्य के 

4) उपयुनि में से कोई िही ीं 

 

Q38. नजसकी पूवन से कोई आशा ि हो” के नलए एक शि है 

1) प्रत्याशा 

2) अप्रत्यानशत -  

3) अपररमेय _ हु 

4) अिाहूत  

 

Q39. गोधूम' शि का तदूिव है 

1) गेहँू  

2) गाय  

3) गोबर 

4) गोधि  

 

Q40. निष्कपर्ट' शि का सींनध-नवचे्छद है 

1) नििः + कपर्ट  

2) निष् + कपर्ट 

3) नि + कपर्ट 

4) निश् + कपर्ट  

 

Q41. निम्न में से नकस शि की वतनिी सही है? 

1) अिुग्रहीत 
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2) अिुगृहीत 

3) अिग्रहीत  

4) अिुग्रनहत 

 

Q42. ‘अपेक्षा' का नवशेषण रूप क्या है? 

1) सापेक्ष  

2) उपेक्षा 

3) निरपेक्ष 

4) अपेनक्षत  

 

Q43. ‘श' र्ध्नि का उच्ारण स्थाि क्या है?  

1) दींत 

2) मूिन  

3) तालु 

4) दींतालु  

 

Q44. अत्यींत' शि में प्रयुि उपसगन है 

1) अतू  

2) अ  

3) अत्य  

4) अनत  

 

Q45. ‘उपत्यका' का अथन है  

1) सूयन नजस पवनत के पीछे से निकलता है 

2) प्रानणयोीं के पेर्ट का एक अींग  

3) पवनत का नशखर 

4) पवनत के पास की िूनम  

 

Q46. ‘ड्ू’ का उच्ारण स्थाि होता है 

1) िानसक्य 

2) कीं ठौष्ठ्य 

3) मूधनन्य 

4) कीं ठतालव्य 

 

Q47. ‘चार गज मलमल' में कौि-सा नवशेषण है?  

1) सींख्यावाचक 

2) गुणवाचक  

3) पररमाणबोधक 

4) सावनिानमक  

 

Q48. ‘सीस' का तत्सम रूप क्या है?  

1) शीशा  

2) शीषन  

3) नसरा  

4) शीषनक  

 

Q49. ‘चौराहा' शि में समास है  

1) कमनधारय  
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2) व्दीं व्द  

3) स्कव्दगु 

4) अव्ययीिाव 

 

Q50. 'आँख की नकरनकरी होिा' का अथन है 

1) अनप्रय लगिा 

2) धोखादेिा  

3) कष्टदायक होिा  

4) बहुत नप्रय होिा 

 

Q51. निम्ननलस्कखत में मौस्कखक अनिव्यस्कि का रूप है 

1) शुि वतनिी 

2) सुलेख 

3) शु्रतलेख 

4) आशु िाषण 

 

Q52. नहन्दी िाषा में नकतिी बोनलयाँ हैं? 

1) 15 
2) 25  

3) 18 

4) 22  
 

Q53. िारतेन्दु युग में निकलिे वाली पनत्रका-युग्म है. 

1) कनववचि सुधा-नहन्दी प्रदीप  

2) सरस्वती-माधुरी 

3) कल्पिा-ज्ञािोदय 

4) िविीत-कादस्कम्बिी 

 

Q54. तद्भव' पनत्रका के सम्पादक का िाम है 

1) लीलाधर जगूड़ी  

2) नवविाथ प्रसाद नतवारी 

3) हरे प्रकाश उपाध्याय 

4)अस्कखलेश  

 

Q55. “बारह बरस लौ कूकर जीवै, अरु तेरह लौ नजयै नसयार।' यह पींस्कि नकसकी है? 

1) नवद्यापनत  

2) चींद बरदाई  

3) िरपनत िाल्ह  

4) जगनिक 

 

Q56. निम्ननलस्कखत में नकस देश में नहींन्दी िाषा का प्रयोग नलखिे एवीं बोलिे में नकया जाता है? 

1) ऑस्टर ेनलया  

2) दनक्षण अमेररका 

3) पानकस्ताि 

4) मॉरीशस  

 

Q 57. ‘सूरसागर' नकस िाषा की रचिा है? 

1) अवधी 

(2) बुने्दली  
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3) ब्रज  

4) छिीसगढ़ी 

 

Q58. ‘वीरोीं का कैसा हो वसींत’ कनवता नकसिे नलखी है? 

1) सुनमत्रा कुमारी चौहाि  

2) सुििा कुमारी चौहाि  

3) माखिलाल चतुवेदी क् 

4) रामधारी नसींह ‘नदिकर’  

 

Q59. निम्ननलस्कखत में से कौि-सी व्याकरण और वतनिी से शुि िाषा कहलाती है? 

1) सानहस्कत्यक िाषा  

2) प्राींजल िाषा 

3) व्याकरनणक िाषा 

4) मािक िाषा  

 

Q60. निम्ननलस्कखत में से कौि-सा रासो 'आल्हाखण्ड' के िाम से प्रनसि है? से प्रनसध्द है? 

1) पृ्रथ्वीराज रासो  

2) खुमािरासो  

3) परमाल रासो 

 

4) बीसलदेव रासो  

 

भाग – III / PART – III 

भाषा – (संसृ्कत) 

 
पररक्षाथी निम्ननलस्कखत िाग के प्रश्ोीं के उिर केवल तिी दें  यनद उन्ोीं िाषा IIका नवकल्प सींिृत चुिा हो। 

 

विरे्दि : प्रसु्तत गद्यखण्ड के आधार पर प्रश् सीं. 61 से 63 तक के प्रश्ोीं के सही उिर दीनजए। 

एकस्कस्मिवसरे कदानचतू लक्ष्मी: पावनतीम् अवदत् पे्रिा— 

 

“गौरर! स्वपतु्य: िाम उच्यताम्। अन्यथा अहीं िीडाबे्जि िवती ताडयेयम्।” इनत। तदा पावनती अवदतू—“मम पतु्य: िाम 

नशविः” इनत। नशवपदस्य अन्याथन: शृ्रगालिः इत्यथन मत्त्वा लक्ष्मी: अपृच्छतू। ष्नक िवत्यािः पनतिः शृ्रगालिः?” इनत। “मम पनतिः 

स्थाणुररनत निनदनश्यते” इनत उिवती पावनती। लक्ष्मीिः अवदत्—“नक सिः स्तम्भ:?” इनत। '“सिः अस्कस्त पशुपनतिः” इनत अवदत् 

पावनती। तन्नाम सिः पशूि् चारयनत इत्यथन: इनत अवदत् लक्ष्मी:। एतादृशिः लक्ष्मी-पावनत्योिः सींलापिः सवेषाीं मड्लाय िवतु। 

 

Q61. नशवपदस्य अन्याथन: किः ? 

1) स्तम्भ: 

2) शृगालिः 

3) स्थाणु: 

4) पशु: 

 

Q62. गद्यखणे्ड कया :प्रश्िः पृच्॒छयते ? 

1) गौयान द 

2) पावनत्या _ 

3) लक्ष्म्या . 

4) दुगनया 
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Q63. कयोिः सींलापिः सवेषाीं मम्नलाय िवतु? 

1) लक्ष्म्यािः 

2) पावनत्॑यािः . 

3) लक्ष्मी-पावनत्योिः 

4) गौयानिः 

 

Q64. समे्प्रषण का कायन है 

1) ज्ञािेस्कन्द्रयोीं को नियाशील करिा 

2) कमेस्करद्रयोीं को नियाशील करिा 

3) अिुिूनत करािा 

4) उपयुनि सिी 

 

Q65. ‘नशशुिः मोदकाय रोनदनत' उदाहरण है 

1) सृ्पषे्टरीस्कितिः का 

2) तादर्थ्न चतुथी वाच्या का 

3) रुच्यथानिाीं प्रीयमाणिः का 

4) नहतयोगे च का 

 

Q66. ऊष्म वणों का बोधक प्रत्याहार है 

1) यणू ्

2) शल् 

3) हश् 

4) जरू 

 

Q67. 'दृश्' धातु से शतृ प्रत्यय करके निष्पन्न होगा 

1) दृश्यिू 

2) पश्यि् 

3) दशनि 

4) दृनष्ट: 

 

Q68. 'मिोरथिः’ उदाहरण है 

1) स्वरसस्कन्ध का 

2) व्यज्जिसस्कन्ध का 

3) नवसगनसस्कन्ध का 

4) प्रकृनतिाव का 

 

Q69. 'क्ष' नमलकर बिा है 

1) क और ष् से 

2) क् और छू से 

3) च् और छ से 

4) च् और श् से  

 

Q70. 'दा' धातु नकस गण की है?  

1) भ्वानदगण  

2) अदानदगण  

3) तिानदगण 

4) जुहोत्यानदगण 
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Q71.”मैं बाजार जाता हँू” का सींिृत में कमनवाच्य वाक्य होगा  

1) अहम आपणीं गच्छानम  

2) मया आपणीं गयते 

3) मह्मीं गयते आपणम्  

4) अस्मानििः आपणीं गयते  

 

Q72. ‘उपोषनत’ में सस्कन्ध है . 

1) गुण  

2) पररूप  

3) दीघन  

4) पूवनरूप  

 

 Q73. ‘िैके' में सस्कन्ध है  

1) गुण 

२) दीघन 

३) वृस्कध्द 

(4) यण्  

 

Q74. अव्यय शि-समूह हैं 

1) सा, ते, यूयम्  

2) अत्र, तत्र, तस्य  

3) सवनत्र, अधुिा, उपरर  

4) िमिः, सह, जे्यष्ठ:  

 

Q75. ‘उन्यासी’ की सींिृत सींख्या िही ीं है 

1) िवसिनतिः 

2) ऊिाशीनतिः 

3) एकोिाशीनतिः 

4) एकोिसिनतिः 

 

Q76. 'ियिम् में प्रयुि प्रकृनत एवीं प्रत्यय है 

1) िम् + लु्यर्टर  

2) िी+लु्यर््ट 

3) िे + लु्यर््ट 

4) ियि + ल्यर््ट 

 

Q77. अन्त:स्थ वणन है 

1)श् ष् स् ह् 

2) अण् (अ इ उ) 

3) यण् (य् व् र् ल्) 

4) नवसगन तथा अिुिनसक  

 

Q78. ‘अर््ट’ प्रत्याहार के वणन हैं 

1) स्वर तथा ह् य् व् र् 

(2) अ इ उ र्ट 

(3) ए ओ तथा हृ य् र््ट 

(9) अ उ र््ट 
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Q79. ‘वसन्तिुन:’ में कौि सस्कन्ध है 

1) यण् सस्कन्ध  

2) गुण सस्कन्ध 

3) वृस्कि सस्कन्ध 

4) व्यींजि सस्कन्ध  

 

Q80. ‘पिगवम्’ में समास है 

1) ततु्परुष 

2) अव्ययीिाव 

3) बहुव्रीनह 

4) व्दन्व्द  

 

Q81. 'नपतृ’ शि का सम्बोधि एकवचि रूप होगा 

1) हे नपतृ 

2) हे नपता 

3) हे नपतिः 

4) हे नपत्रिः 

 

Q82. निम्न में से कौि सींयुि व्यींजि है? 

1) ख  

2) ज्ञ 

3) झ 

4) ि 

Q83. 'चानहये' अथन में कौि-सा प्रत्यय प्रयुि होता है? 

1) तुमुि् 

2) तव्यत् 

3) क्त्िवतु  

4) ल्यप 

 

Q84. “मुझे सींिृत अच्छी लगती है” इसका सींिृत मे अिुवाद क्या है?  

1) अहीं सींिृत िानत रा है 

2) मामू सींिृत॑ रुनचकरम् 

3) मह्यीं सींिृतीं रोचते  

4) मया सींिृतीं रोचते 

 

Q85. 'श्रीमद्भगवद्गीता' में कुल नकतिे अध्याय हैं?  

1) 15 (पन्द्रह) 

2) 18 (अठारह)  

3) 20 (बीस) 

4) 16 (सोलह) 

 

Q86. 'कारकिः' में यनद प्रकृनत है ‘कृ' तो प्रत्यय है  

1) घञ्  

2) तृच् 

3) णु्वल् 

4) लु्वद्र  

 

Q87. अव्ययीिाव समास का उदाहरण है 
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1) िादश 

2) अनधहरर 

3) राजपुरुषिः हर 

4) पीताम्बरिः 

 

Q88. निम्न में कौि “चतुनवनशनतसाहस्रीसींनहता’ के िाम से ख्यात है? 

1) रामावण 

2) महािारत हरा 

3) ब्रह्माण्डपुराण  

4) बृहदारण्यकोपनिषद्  

 

Q89. िुत्व सस्कन्ध का उदाहरण है  

1) हररष्टीकते  

2) नविाज्जयनत 

3) तट्टीका 

4) नवषु्णख्नाता 

 

Q90. सींिृत-सानहत्य में नकस कनव की रचिा ' को “नविदौषधम्’ कहा गया है? 

1) िारनव  

2) िास  

3) कानलदास 

4) श्रीहषन  

 

भाग – IV 

गवणत 
Q91 जा नकसी आयतनचत्र में आयत की ऊँचाई है 

1)उस वगन की बारम्बारता  

2) उस वगन की चौड़ाई 

3) उस वगन की ऊपरी सीमा 

4) उस वगन की निम्न सीमा 

 

Q92. एक रचिात्मक कक्षा में नशक्षकोीं को निम्न में से क्या िही ीं करिा चानहए? 

1) नवद्यानथनयोीं को प्रश्ोीं के हल ढँूढ़िे के नलएीं  अपिी िीनतयाँ नवकनसत करिे देिा. 

2) नवद्यानथनयोीं को सूत्र रर्टिे के नलए कहिा 

3) ऐसी पररस्कस्थनतयाँ बिािा नजिमें नवद्याथी! हल खोजिे में प्रवृि होीं  

4) नवद्यानथनयोीं को गनणतीय साधिोीं के अींपिे अथन बिािे देिा | 

 

Q93. दो कोनर्टपूरक कोणों का अन्तर 40° है। दोिोीं कोण होींगे 

1) 65°, 35°  

2) 70°, 30°  

3) 25°, 65°  

4) 70°, 110°  

 

Q94. 121012 को 12 से िाग देिे पर शेषफल है 

1) 0 

2) 2 
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3) 3 

4) 4 

 

Q95. नकसी नवद्याथी में निम्न में से क्या आँकिा चानहए? 

1) गनणतीय सींपे्रषण  

2) नबिा समझे रर्टिे की क्षमता . 

3) नशक्षक को सुििे की क्षमता है 

4) अवधारणाएँ ि समझिे पर िी प्रश् ि पूछिे की प्रवृनि 

 

Q96. अनधकतम और नू्यितम पे्रक्षण का अन्तर कहलाता है 

1) आवृनि  

2) वगन माप  

3) पररसर 

4) माध्य  

 

Q97. सबसे छोर्टी अिाज्य सींख्या है 

1) 2 

2) 3 

3) 5 

4) 7 

 

 

Q98. नकसी सींख्या 
2

3
 के 

3

4
 का 24 के बराबर है, तो उस सींख्या का 

1

4
 कया होगा? 

1) 8 

2) 12 

3) 10 

4) 32 

 

Q99. 7 + 2√10 का वगनमूल है 

1) (√6 + 1) 

2) (√3 + 2) 

3) (√2 + √5) 

4) (2 + √5) 

 

Q100. साींस्कख्यकी में ‘प्रसरण का नवशे्लषण’ िामक नवनध का मुख्य शे्रय था 

1) आर. ए. नफशर को 

2) गाउस को 

3)लाप्लास को 

4) नू्यर्टि को  

 

Q101. नकसी सींख्या के 60% का
3

5
𝑡ℎ वाँ िाग 36 है, तो वह सींख्या है 

1) 100 

2) 75 
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3) 80 

4) 90 

 

Q102. Π है, एक 

1) पररमेय सींख्या 

2) अपररमेय सींख्या  

3) अिाज्य सींख्या  

4) पूणाांक  

 

Q103. 
𝑎

3
=

𝑏

4
=

𝑐

7
 यनद हो तो 

𝑎+𝑏+𝑐

𝑐
का माि है 

1) √2 

2) 7 

3) 2 

4) 
1

√7
 

 

Q104. (378 × 236 × 459 × 312) के गुणिफल में इकाई का अींक होगा 

1) 6 

2) 8 

3) 2 

4) 4 

 

फ105. दो सींख्याओीं के महिम समापवतनक व लघुतम समापवत्यन िमशिः 12 तथा 72 हैं। यनद ि सींख्याओीं का योगफल 

60 हो, तो इिमें से एक सींख्या होगी 

1) 12 

2) 24 

3) 60 

4) 72 

 

Q106. एक नशक्षक िे बै्लकबोडन पर नलखा: 

29 × 4 ज्ञात कीनजए। 

एक नवद्याथी िे अपिी अभ्यास-पुस्कस्तका पर इसे 27 × 4 

उतारा तथा िीचे दशानएीं  अिुसार हल नकया: 

×

2
27
4

108
  

नशक्षक िारा जल  

1) नवद्याथी को 0 अींक देिे चानहए 

2) उस नवद्याथी से कक्षा में सतकन  रहिे को कहकर 0 अींक देिे चानहए ही 

 3) उस नवद्याथी को 5 अींकोीं में से 2 अींक देिे चानहए चर ८ 

4) यह कारण जाििे का प्रयास करिा चानहए नक नवद्याथी िे प्रश् को गलत क्योीं उतारा तथा उसे 

सही प्रनिया के नलए पूरे 5 अींक देिे चानहए 

 

Q107. यनद नकसी वसु्त का िय-मूल्य उसके नविय-मूल्य का, 3/2 है, तो लाि या हानि प्रनतशत है द 
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1) 33
1

3
% लाि  

2) 33
1

3
% हानि 

3) 33
1

8
% हानि  

4) 33
1

8
% लाि  

 

Q108. नकसी कमरे की चारोीं दीवारोीं का कुल के्षत्रफल 660 m2 है तथा लम्बाई उसकी चौड़ाई की दुगुिी है। यनद कमरे 

की ऊँचाई 11 उ है, तो उसकी छत का के्षत्रफल है  

1) 200 m2 

2) 150 m2 

3) 100 m2 

4) 75 m2 

 

Q109. यनद सींख्या 604__6, 11 से नविाज्य हो, तो ररि स्थाि का पूणानक है 

1) 1 

2) 3 

3) 7 

4) 5 

 

Q110. 20वी ीं सदी के हे स्वनशनक्षत िारतीय गनणतीय प्रनतिावाि व्यस्कि कौि थे?  

1) आयनिर्टर   

2) श्रीधराचायन  

3)” श्रीनिवास रामािुजि 

4) हरीश चन्द्र 

 

Q111. दो सींख्याओीं में से बड़ी सींख्या का दुगुिा छोर्टी सींख्या के पाँच गुिे से तीि ज्यादा है तथा बड़ी सींख्या के चार गुिे 

और छोर्टी सींख्या के तीि गि का योग 71 है। वे सींख्याएँ कया है?  

1) 43, 8 

2) 11, 9 

3) 14, 5 

4) 17, 1 

 

Q112. 5 cm िुजा वाले एक घि के सिी फलकोीं पर रींग लगाया जाता है। यनद इसे 1 cm3 वाले घरोीं में कार्टा जाता है, 

तो 1 cm3 वाले नकतिे घिोीं में केवल एक ही फलक पर रींग होगा? 

1) 142 

2) 27 

3) 42 

4) 54 

 
 

Q113. यनद अवरोही िम में रखे गए आँकड़ोीं के दोिोीं छोरोीं से चरम पे्रक्षण हर्टाए जाते हैं, तो केन्द्रीय प्रवृनि के कौि-से 

मापक प्रिानवत होते हैं?  

1) माध्य और माध्यक ह 
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2) माींध्य, माध्यक और बहुलक 

3) माध्य और बहुलक  

4) बहुलक और माध्यक 

 

Q114. नकसी प्राकृनतक सींख्या का प्रते्यक अींक या तो 3 या 4 है। यह सींख्या 3 और 4 दोिोीं से नविानजत होती है। 

ऐसी सबसे छोर्टी सींख्या क्या है? 

1) 333 

2) 444 

3) 44 

4) 4444 

 

Q115. पींचिुज के सिी अन्तिःकोणोीं का योग ज्ञात कीनजए। 

1) 450°  

2) 180°  

3) 360°  

4) 540° 

Q116. एक खमे्भ का 4/7 िाग कीचड़ में धँसा है। जब धींसे हुए का 1/3 िाग बाहर खी ींचा जाता है, तो पाया गया नक 8 

मीर्टर माप का खम्भा अिी िी कीचड़ में है। की पूरी लम्बाई क्या होगी? 

1) 21 मीर्टर 

2) 25 मीर्टर 

3) 30 मीर्टर  

4) 12 मीर्टर 

 

Q117. A और B नकसी काम को 12 नदि में कर सकते हैं। B और C उसी काम को 15 नदि में तथा C और A उसी 

काम को 20 नदि में कर सकते हैं। A अकेले उसी काम को नकतिे नदि में पूरा करेगा?  

1) 10 नदि  

2) 20 नदि 

3) 30 नदि 

4) 40 नदि  

 

Q118. ΔABC की िुजाओीं के मध्यनबन्दुएँ िमशिः D, E और F हैं। निम्न में से कौि-सा सत्य है? 1! 

 

1) ΔDEF का के्षत्रफल = 
1

2
 ΔABC का के्षत्रफल 

2) ΔDEF का के्षत्रफल 
1

2
 ΔABC का के्षत्रफल=  

3) ΔDEF का के्षत्रफल = 
1

3
 ΔABC का के्षत्रफल 

4) ΔDEF का के्षत्रफल = 
1

4
 ΔABC का के्षत्रफल 

 

 

Q119. यनद दो सींख्याओीं का अन्तर तथा: गुणिफल िमशिः 5 तथा 36 हो, तो उिके वु्यत्क्रमोीं का अन्तर है. 

1) 
5

36
 

2) 
31

36
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3) 
5

9
 

4) 
9

5
 

 

Q120. नकसी दो-अींकीय सींख्या के अींकोीं का गुणिफल 6 है। | उस सींख्या में 9 जोड़िे से प्राि सींख्या में अींकोीं के स्थाि 

बदल जाते हैं। वह सींख्या है 

1) 16 

2) 35 

3) 43 

4) 23 

Q121 

 

भाग – V 

पर्ाािरणीर् अध्यर्ि 

Q121. िारत में निम्ननलस्कखत में से कौि-सी एजेंसी मुख्य रूप से प्रदूषण के मापि से सींबींनधत है? 

1) ग्रीि नर्टर बू्यिल 

2) केन्द्रीय प्रदूषण नियींत्रण बोडन  

3) केन्द्रीय जल आयोग  

4) सवे ऑफ इस्कण्डया 

 

Q122. ‘कोर्टोपेक्सी' एक जाग्रत ज्वालामुखी है, जो अवस्कस्थत है 

1) नससली में  

2) हवाई में  

3) एण्डीज़ में  

4) रॉकीज़ में 

 

Q123. नतब्बत की साींगपो िदी िारत में नकस िाम से जािी जाती है? 

1) गींगा  

2) यमुिा 

3) ब्रह्मपुत्र  

4) नसनु्ध 

 

Q124. घास-मिूनम के्षत्र के पाररतींत्र की खाद्य शृ्रींखला में सबसे उच् स्तर के उपिोिा होते हैं 
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1) शाकाहारी 

2) माींसाहारी  

3) जीवाणु  

4) माींसाहारी या शाकाहारी 

 

Q125. वायुमींडल का प्रमुख स्तर, जो पृथ्वी-तल के िज़दीक है, है 

1) समतापमींडल 

2) क्षोिमींडल 

3) मध्यमींडल  

4) आयिमींडल  

 

Q126. सींयुि राष्टर  सुरक्षा पररषद् में नकतिे स्थायी सदस्य हैं?  

1) 3  

2) 4 

3) 5  

4) 6 

 

Q127. सररिा राष्टर ीय उद्याि अवस्कस्थत है 

1) पनिम बींगाल में  

2) गुजरात में 

3) राजस्थाि में  

4) असम में 

 

Q128. पाींररस्कस्थनतक तेंत्र, में ऊजान का मुख्य स्रोत है 

1) ए. र्टी. पी. 

2) 'सूयन-प्रकाश 

(3) डी. एि. ए.  

4) आर. एि. ए. 

 

Q129. एगमाकन ' का सम्बन्ध है क् हे  

1) गुणविा से 

2) पैकेनजींग से 

3) सींसाधि से 
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4) उत्पादि से 

Q130. आसनिक िारा जल-प्रदूषण सवाननधक है... 

1) उिर प्रदेश में 

2) मध्य प्रदेश में 

3) नबहार में द 

4) पनिम बींगाल में  

 

Q131. वन्यजीव सुरक्षा था पाररत नकया गया था. 

1) 1960 में  

2) 1962 में 

3) 1979 में  

4) 1975 में 

 

Q132. दूध से दही.बििे की प्रनिया को कहते हैं  

1) प्रकाश-सींशे्लषण  

2) आसवि 

3) नकण्वि 

4) से्टररलाइजेशि  

Q133. नकस देश के सींनवधाि से मौनलक किनव्योीं को नलया 

गया है?  

1) जमनिी नद 

2) यूिाइरे्टड नकगडम 

3) चू. एस. ए.  

4) यू. एस. एस. आर.  

 

Q134. धु्रवतारा कहा जाता है रा 

1) 79 उिरी तारो की  

2) दनक्षणी तारे को 

3) पूवी तारे को  

4) पनिमी तारे को 

 

Q135. िारत में 'प्रोजेक्ट र्टाइगर’ प्रारम्भ नकया गया था 
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1) 1972 में  

2) 1973 में 

3) 1987 में  

4) 1985 में 

 

Q136. ‘फूलोीं की घार्टी' अवस्कस्थत है द जी 

1) जमू्म-कश्मीर  

2) नहमाचल प्रदेश में 

3) नसस्कक्कम में 

4) उिराखण्ड में  

 

Q137. एक वयि मािव में कुल अस्कस्थयोीं की सींख्या नकतिी होती है?  

1) 305  

2) 275 

3) 206  

4) 175 

 

फ138. ग्रीिपीस इींर्टरिैशिल का मुख्यालय अवस्कस्थत है 

1) नू्ययॉकन  में  

2) नसडिी में  

3) ऐम्सर्टडनम में  

4) िागासाकी में 

 

Q139. प्रकाश-सींशे्लषण के प्रकाशीय चरण के दौराि ____ का ऑक्सीकरण एवीं ____ का अपचयि होता है। . 

1) जल NADP 

2) NADPH2, CO2 

3) CO2, जल 

4) CO2, NADPH2 

 

Q140. एल. पी. जी. के सींदिन में क्या सत्य िही ीं है? 

1) यह एक स्वच्छ ईींधि है रे 

2) यह उच् ऊष्मीय माि का है  

3) यह िीले ज्वाला से जलिे वाला है 
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4) यह मेथैि उत्सजनि करिे वाला है 

 

Q141. The Origin of species (प्रजानतयोीं की उत्पनि) एक रचिा है  

1) अससू्त की  

2) चार्ल्न डानवनि की 

3) मेंडेल की ता 

4) रॉबर्टनहुककी  

 

Q142. मकर रेखा है 

1) 23
1

2
° 

2) 23
1

2
°𝑁 

3) 23
1

2
°𝑆 

4) 23° S 

 

 

Q143. अन्तरानष्टर ीय न्यायालय का मुख्यालय अवस्कस्थत है । 

1) जेिेवा में  

2) हेग में द 

3) नू्ययॉकन  में  

4) पेररस में 

 

q144. सींनवधाि सिा िे राष्टर ीय गाि को अपिाया 

1) 20 जिवरी, 1950 को 

2) 24 जिवरी, 1950 को 

3) 21 मई, 1949 को द 

4) 13 िवम्बर, 1949 को 

 

Q145. पुष्कर मेला' कहाँ: आयोनजत नकया जाता है? 

1) जयपुर  

2) उदयपुर . 

3) जोधपुर  

4) अजमेर  
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q146. निम्ननलस्कखत पराबैंगिी नकरणोीं में से कौि-सा अनधकहानिकारक है?  

1) UV-A 

2) UV-B 

3) UV-C 

4) उपयुनि में से कोई िही ीं 

 

Q147. निम्ननलस्कखत में से कौि-सा जै़वमींडल का! अजैनवक घर्टक िही ीं है?  

1) प्रोर्टीि  

2) मृदा  

3) कवक  

4) फॉस्फोरस  

 

Q148. ‘नगर शेर पररयोजिा’ अवस्कस्थत है 

1) गुजरात में 

2) महाराष्टर  में  

3) उिर प्रदेश में  

4) मध्य प्रदेश में 

 

 

Q149. डबू्ल्य. डबू्ल्य. एफ. से आशय है 

1) वर्ल्न  वाइड फीं ड 

2) वर्ल्न  वॉर फीं ड 

3) वर्ल्न  वाइर्ल्लाइफ फीं ड 

4) वर्ल्न  वॉच फीं ड 

 

Q150. गींगा िदी निकलती है 

1) अगराबली शे्रणी से 

2) लद्दाख गे्लनशयर से 

3) गींगोत्री गे्लनशयर से 

4) नमलाप गे्लनशयर से 
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